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Multiple Choice Question

50 x 1 = 50

If  , then 

(a)  (b)  (c)  (d) 

∫ f(x)dx = g(x) + c ∫ f(x) (x)dxg′

∫ (f(x) dx)2 ∫ f(x)g(x)dx ∫ (x)g(x)dxf ′ ∫ (g(x) dx)2

If , then the value of k is

(a) log 3  (b) -log 3  (c)  (d) 

∫ dx = k( ) + c3
1
x

x2 3
1
x

− 1
log3

1
log3

If  , then f(x) is

(a)  (b)  (c) x + 4x + 6x + c  (d) 

∫ (x) dx = (x − 1) + cf ′ ex
2

ex
2

2 − + x + cx3 x2

2
+ 3 + 4x + cx3

2
x2 3  2  − + x + c2x3

3
x2

The gradient (slope) of a curve at any point (x, y) is . If the curve passes through the point (2, 7), then the equation of the curve is

(a)  (b)  (c) y = x + 3x + 4  (d) y = x - 3x + 6

−4x2

x2

y = x + + 34
x

y = x + + 44
x

2  2 

If   is

(a) cot(xe )+c  (b) sec(xe )+c  (c) tan(xe )+c  (d) cos(xe )+c

∫ dx
(1+x)ex

(x )cos2 ex

x x x x

 is

(a)  (b)  (c)  (d) 

∫ dx
tan x√

sin 2x

+ ctan x
− −−−−

√ 2 + ctan x
− −−−−

√ + c1
2 tan x

− −−−−
√ + c1

4 tan x
− −−−−

√

 is

(a)  (b)  (c)  (d) 

∫ xdxsin3

cos x − + c−3
4

cos 3x
12 cos x + + c3

4
cos 3x

12 cos x + + c−3
4

cos 3x
12 sin x − + c−3

4
sin 3x

12

 is

(a) x+c  (b)  (c)  (d) 

∫ dx−e6 log x e5 log x

−e4 log x e3 log x

+ cx3

3
+ c3

x3 + c1
x2

 is

(a) tan (sin x)+c  (b) 2sin (tan x)+c  (c) tan (cos x)+c  (d) sin (tan x)+c

∫ dxsec x
cos 2x√

-1 -1 -1 -1

 is

(a) x +c  (b) 2x +c  (c)  (d) 

∫ dxtan−1 1−cos 2x
1+cos 2x

− −−−−−
√

2 2 + cx2

2 − + cx2

2

 is

(a)  (b)  (c)  (d) 

∫ dx23x+5

+ c
3( )23x+5

log2
+ c23x+5

2log(3x+5) + c23x+5

2log3
+ c23x+5

3log2

 is

(a)  (b)  (c)  (d) 

∫ dxx− xsin8 cos8

1−2 x xsin2 cos2

sin2x + c1
2

− sin2x + c1
2

cos2x + c1
2

− cos2x + c1
2

 is

(a) e tan (x+1)+c  (b) tan (e )+c  (c)  (d) e  tan  x+c

∫ dx
( x+ x+1)ex x2 tan−1 tan−1

+1x2

x -1 -1 x
+ cex

(ta xn−1 )2

2
x -1

 is∫ xdx
+ xx2 cos2

+1x2 cosec2
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(a) cot x + sin x + c  (b) -cot x + tan x + c  (c) -tan x + cot x + c  (d) -cot x - tan x + c-1 -1 -1 -1

 is

(a) x  sin x + 2x cos x - 2sin x + c  (b) x  sin x - 2x cos x - 2sin x + c  (c) -x  sin x + 2x cos x + 2sin x + c

(d) -x  sin x - 2x cos x + 2sin x + c

∫ cosxdxx2

2 2 2

2

 is

(a)  (b)  (c) 

(d) 

∫ dx1−x
1+x

− −−
√

+ si x + c1 − x2− −−−−√ n−1 si x − + cn−1 1 − x2− −−−−√ log|x + | − + c1 − x2− −−−−√ 1 − x2− −−−−√

+ log|x + | + c1 − x2− −−−−√ 1 − x2− −−−−√

 is

(a)  (b)  (c) 

(d) 

∫ dx
−1ex

log| | − log| − 1| + cex ex log| | + log| − 1| + cex ex log| − 1| − log| | + cex ex

log| + 1| − log| | + cex ex

 is

(a)  (b)  (c) 

(d) 

∫ cosxdxe−4x

[4cos x − sin x] + ce−4x

17
[−4cos x + sin x] + ce−4x

17
[4cos x + sin x] + ce−4x

17

[−4cos x − sin x] + ce−4x

17

 is

(a)  (b)  (c)  (d) 

∫ dxxsec2

x−1tan2

2log| | + c1−tanx
1+tan x log| | + c1+tanx

1−tan x
log| | + c1

2
tanx+1
tan x−1

log| | + c1
2

tanx−1
tan x+1

 is

(a)  (b)  (c) 

(d) 

∫ sin 5xdxe−7x

[−7sin5x − 5cos5x] + ce−7x

74 [7sin5x + 5cos5x] + ce−7x

74 [7sin5x − 5cos5x] + ce−7x

74

[−7sin5x + 5cos5x] + ce−7x

74

 is

(a)  (b)  (c) 

(d) 

∫ dxx2e
x

2

− 4x − 8 + cx2e
x

2 e
x

2 e
x

2 2 − 8x − 16 + cx2e
x

2 e
x

2 e
x

2 2 − 8x + 16 + cx2e
x

2 e
x

2 e
x

2

− + + cx2 e
x

2

2
xe

x

2

4
e
x

2

8

 is

(a)  (b)  (c) 

(d) 

∫ dxx+2

−1x2√

− 2log|x + | + c− 1x2− −−−−√ − 1x2− −−−−√ si x − 2log|x + | + cn−1 − 1x2− −−−−√ 2log|x + | − si x + c− 1x2− −−−−√ n−1

+ 2log|x + | + c− 1x2− −−−−√ − 1x2− −−−−√

 is

(a)  (b)  (c) 

(d) 

∫ dx1

x (log x −5)2√

log|x + | + c− 5x2− −−−−
√ log|logx + | + clogx − 5

− −−−−−−√ log|logx + | + c(logx − 5)2− −−−−−−−−√

log|logx − | + c(logx − 5)2− −−−−−−−−√

 is

(a)  (b)  (c) 

(d) 

∫ sin dxx√

2(− cos + sin ) + cx√ x√ x√ 2(− cos − sin ) + cx√ x√ x√ 2(− sin − cos ) + cx√ x√ x√

2(− sin + cos ) + cx√ x√ x√

 is

(a)  (b)  (c)  (d) 

∫ dxe x√

2 (1 − ) + cx√ e x√ 2 ( − 1) + cx√ e x√ 2 (1 − ) + ce x√ x√ 2 ( − 1) + ce x√ x√

e  . d (e ) = ________+c.

(a) cos (e )  (b) sin(e )  (c) - cos (e )  (d) -sin(e )

∫ sin x x

x x x x

 dx = ________+c.

(a) log (sin x)  (b) (sin  x)  (c) 4 (sin  x)  (d) 

∫
4(si x)n−1 3

1−x2√

-1 -1 4 -1 4 ( x)sin−1 4

4
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 dx = ________ +c.

(a) 2 cos   (b) 2 sin   (c) -2 sin   (d) -2 cos 

∫
sin x√

x

x√ x√ x√ x√

 dx = ___________+c.

(a)  sec  2x  (b)  sec 2x -   sec 2x  (c)  sec 2x  (d)  sec  2x +   sec 2x

∫ 2sec2xtan3

1
6

3 1
6

3 1
2

1
2

1
6

3 1
2

 dx = ________+c.

(a) log  (b) log  (c) 12log  (d) 

∫ 1
9 −4x2

∣∣
3x−2
3x+2

∣∣
1

12
∣∣

3x−2
3x+2

∣∣ ∣∣
3x−2
3x+2

∣∣ log1
12

∣∣
3x+2
3x−2

∣∣

 dx = _______ + c.

(a) log (4x   +1)  (b) log (x  + x)  (c) log (4x )  (d) 

∫ +14x3

+xx4

3 4 3 1
log( )x4

 dx is equal to________+c.

(a)  tan  (x )  (b)  tan    (c)  tan    (d) none of these

∫ x

4+x4

1
4

-1 2 1
4

-1 ( )x2

2
1
2

-1 ( )x2

2

 dx is equal to ________+c.

(a)  (b)  (c)  (d) none of these

∫ |x|3

+ c−x4

4
|x|4

4
x4

4

 dx = ___________+c.

(a) e  f (x)  (b) e  f (x)  (c) 2e  f(x)  (d) e  - f (x)

∫ [f (x) + (x)]ex f ′

x x x x

 sin x dx = -x cos x + a, then a =  

(a) sin x + c  (b) cos x + c  (c) c  (d) none of these

∫ x

Match List - I with List II.

  List - I   List - II

i a

ii b

iii c

iv d0

The Correct match is

(a)

i iiiiiiv

dca b

 (b)

i iiiiiiv

dcb a

 (c)

i iiiiiiv

bdc a

 (d)

i iiiiiiv

bca d

log(tan x)dx∫
π

2
0

16
35

x dx∫ 1
0 (1 − x)10 120

46

si xdx∫
π

2
0 n7 1

132

dx∫ ∞
0 x5e−4x

 is equal to _______

(a)  (b)  (c) 

(d) 

∫ 2xsin 2x
sin 5x sin 3x

log sin 3x − log sin 5x + c log sin 3x + log sin 5x + c1
3

1
5

log sin 3x − log sin 5x + c1
3

1
5

3 log sin 3x − 5 sin 5x + clog′

If   then l is equal to _________

(a)  (b)  (c)  (d) 

I = ∫ dx1 + sinx
− −−−−−−√

−2 + c1 − sinx
− −−−−−−√ sin( ) + cos( ) + cx

2
x
2

cos( ) − sin( ) + cx
2

x
2 2 + c1 − sinx

− −−−−−−√

The primitive of the function   when   is given by _______

(a) cosx + xsinx  (b) -cosx - xsinx  (c) xsinx - cosx  (d) None of these

x| cosx| < x < ππ
2

 is cqual to _______

(a)  (b)  (c)  (d) None of these

∫ dx

x( +1)xn

log + c1
n

∣∣
xn

+1xn
∣∣ log + c1

n
∣∣

+1xn

xn
∣∣ log + c∣∣

xn

+1xn
∣∣

 is equal to _____

(a)  (b)  (c) 

(d) 

∫ 4 sinx cos cos dxx
2

3x
2

cosx + cos 2x − cos 3x + c1
2

1
3

cosx − cos 2x − cos 3x + c1
2

1
3

cosx + cos 2x + cos 3x + c1
2

1
3

cosx − cos 2x + cos 3x + c1
2

1
3
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,   is equal to _______

(a)  (b)  (c) 

(d) 

∫ dx1

x sin(x+α)sin3√
α ≠ nπ,n ∈ z

−2 cosecα(cosα − tanx sinα + c)
1
2 −2(cosα + cotx sinα + c)

1
2 −2 cosecα(cosα + cotx sinα + c)

1
2

−2 cosecα(sinα + cotx cosα + c)
1
2

 is equal to ______

(a)  (b)  (c)  (d) 

∫ dx
p −qxp+2q−1 xq−1

+2 +1x2p+2q xp+q

− + cxp

+1xp+q
+ cxq

+1xp+q
− + cxq

+1xp+q
+ cxp

+1xp+q̇

 _________

(a)  (b)  (c)  (d) None of these

 If  = ∫ (lnx dx,  then  + nIn )n In In−1

(ln x)n

x
x(lnx)x−1 x(lnx)n

 is equal to ______

(a)  (b)  (c)  (d) 

∫ dxsin 2x

x+ xsin4 cos4

( x) + ccot−1 tan2 ( x) + ctan−1 tan2 ( x) + ccot−1 cot2 ( x) + ctan−1 cot2

 is equal to _______

(a)  (b)  (c) 

(d) None of these

∫ sec xdx′

sin(2x+A)+sin A√

+ csec A
2√

tanx cosA − sinA
− −−−−−−−−−−−−−−

√ secA + c2√ tanx cosA − sinA
− −−−−−−−−−−−−−−√ secA + c2√ tanx cosA + sinA

− −−−−−−−−−−−−−−√

If    then f(x) equals ____

(a) cos x  (b) sin x  (c) tan x  (d) 1

∫ f(x)dx = (1 + sinx + c1 + sinx
− −−−−−−

√ 2
3 )

3

2

(a)  (b)  (c)  (d) 

 Let  ∫ {f(x) − (x)} dx = ϕ(x).  ∫ f(x)dx is ex f ′ ex

ϕ(x) = f(x)ex ϕ(x) − f(x)ex {ϕ(x) + f(x)}1
2 ex {ϕ(x) + (x)}1

2
exf ′

 _________

(a)  (b)  (c)  (d) None of these

 If y = ∫  and y = 0 when x = 0 then the value of y when x = 1 is dx

(1+ )x2
3

2

1
2√ 2√ 2 2√

 then ______

(a)  (b)  (c)  (d) None of these.

 If  ∫ dx = A + B + cx5(1 + )x3
2
3 (1 + )x3

8

3 (1 + )x3
5

3

A = ,B =1
4

1
5

A = ,B = −1
8

1
5

A = − ,B =1
8

1
5
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